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16 +4 = 7+8 -3 =
3+12 = 4 +3 +9 =
12 +35 = 6+2+8=
2+11 = T+2+7 =
15 -5 = 6+3+6 =
7T+7 = 14 -2 +5 =
8 +6 = 18 -4 -4 =
9 +4 = 7T+4+2+49 =
18 —8 = 6+3+4 =
2.
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HAZE 25 =1(9)
1. A&
14 +2 = 13 +5 =
15 -3 = 18 —4 =
19 -6 = 17 -3 =
10 +0 = 9+9 =
6 +8 = 0 +8 =
9 +4 = 7 +6 =
T +7 = 6+7 =
19 —4 = 8 +7 =
15 +2 = 19 -5 =
9+6= 14 +1 =

/N 6 2
/NN 8
— I ( ) 3L (
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HAZR 25 =1 (10)
1. A&,
10 +7 = S +8 =
4 +3 = 17 =5 =
12 -2 = 8 +8 =
11 +3 = 6 +6 =
10 =7 = 6+7 =
3+8 = 7 +8 =
O +6 = 9+9 =
13 +3 = 0 +4 =
8 +8 = 8 =5 =
7T +4 = 17 -2 =
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LL7EQHIE L« >7« <7u“ =7
(1)18 =10 () 18 (1) 14 -3 11
(2)13 =38 (12)12 =25
(3)10 -4 6 (13)8 -6 (2
(4)19 =109 (14)18 =8 ()9
(5)14 -4 ()8 (15)10 -5 )6
(6)15-100)9 (16)17 =109
(7)13 +6 ()18 (17)19 =8 ()7
(8)15 =105 (18)13 =105
(9)14 -3 ()8 (1911 -1003
(10)16 -6 O5 (2007 +8 9
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HAZE 45 =] (12)
1. 05
(1)14 =0 = (11)19 -4 =
(2)17 =3 = (12)17 +2 =
(3)15 -1 = (13)17 =5 =
(4)9 +8 = (14)18 =6 =
(5)14 =3 = (15)19 =5 =
(6)13 =2 = (16)18 =3 =
(7)17 =4 = (17)16 =0 =
(8)15 =2 = (18)16 =3 =
(9)11 =0 = (19)16 +2 =
(10)13 =1 = (20)15 +2 =
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HAZE 45 =1(13)

(11)5 +6 =
(12)4 +8 =
(13)8 +5 =
(14)5 +7 =
(15)9 +9 =
(16)9 +3 =
(17)8 +7 =
(18)6 +8 =
(19)6 +4 =
(20)8 +9 =
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HAZF 2521 (14)
SE:
2 +9 = 1+ =
3+8 = 7T +6 =
17 —6 = 7T +3 =
16 +4 = 4 +7 =
15 -3 = 4 +8 =
8 +7 = 15 -3 =
8 +8 = 16 —4 =
9 +4 = 10 +5 =
9 +6 = 9+9 =
14 -2 = 9+3 =
2. H—IH
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HAZE 2221 (15)
1% JT o
(1)6+3 +2 = (11)7 +8 +2 =
(2)4 +7 +3 = (12)3+9+7 =
(3)9+3 -2= (13)2+8 +3 =
(4)2+3+8 = (14)14 +2 +2 =
(5)7 +4 +5 = (15)12 +2 +3 =
(6)13 -3 -4 = (16)3 +7 +4 =
(7)15+2 -6 = (17)13 +1 +5 =
(8)4 +8 =10 = (18)8 +7 +3 =
(9)15 =-5-5= (19)6 +6 +6 =

(10)3 +3 +0 = (20)7 +3 +9 =
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HAF 451 (16)
1. T
(1)7 +3 = (11)9 +5 =
(2)13 +5 = (12)6 +5 =
(3)12 =10 = (13)4 +9 =
(4)9 +4 = (14)3 +7 =
(5)0 +8 = (15)8 +4 =
(6)6 +8 = (16)6 +6 =
(7)14 =2 = (17)14 +4 =
(8)10 -8 = (18)8 +3 =
(9)18 -0 = (19)9 +9 =
(10)4 +8 = (20)8 +5 =
> RIILHT 1| BT 1904 36
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HAF 2521 (17)
I. H3F-
O+1+2 = O+1+3=
0 +3 = 0 +4 =
O+1+35 = O+1+6=
O +6 = 0 477 =
O+1+8 = 9+1+9 =
O +9 = 9 +10 =
10-1+2= 10 -1+3 =
10 -1 +5 = 10-1+6=
10 -1 +8 = 10-1+9 =
10-1+0= 10+1 -1 =
2.
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HAZE 2 =1(18)
1. HZRL
4 +6 = 4+5+5=
1 +2 = 34+46+9 =
4+9 = 1 +8 +2 =
Z+9 = 7T +2 +4 =
g +3= 9+4 -10 =
8 +9 = 9+0+9 =
[ +9 = 9+6-5=
6+2 = 8 +1+3 =
9+7= 90+5-4=
0 +90 = 9O+7-6=
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HAZF 2521 (19)
Wi
11 -1+2 = 347 -4 =
6 +3 +8 = 12 -10 -2 =
12 =10 +2 = 1 +9 +9 =
9+1 -9 = 13 -3 -3 =
14 -10 +4 = S+5+3 =
6 +2 +4 = 15-10+3 =
15-10-3 = 7+3+4+6 =
7T +2 +8 = 16 —10 +8 =
18 -8 +6 = 346 +7 =
2+9 +3 = 19 -10 +0 =
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HAZ 23 =1 (20)

=

T+3+2 = 7T+3+5=
14 -3 +7 = 11 -1+5=
6 +8 +6 = 2+7+3 =
17 -7 -6 = 17 -7 +6 =
S5+5+5 = 5+4+6=
18 —10 -4 = 12 -2 =10 =
6 +4 +1 = 3+3+6=
16 -6 +7 = 16 —10 +3 =
S+4 +4 = 1 +8 +35 =
18 -8 +2 = 19 - 10 -9 =
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